FAANE R SR B 38 I

FIR SRS f(X) PRSI, Rtk R a, = f(a, ) I sy
By 5 SRIBIIES, XTI RS ik
EH 1. # f(X)=ax+b(@a=0,a=1), p & f(X) Az S, a, # 2 &L R

a,="f(,,).(n>1), Ma,-p=a(a,, —p), B{a, — p}EAtha st
B BA pa2 f(X) ’As) A

s.ap+b=p
~b—p=-apta,=a-a,,+bffa,-p=a-a,,+b-p=a(a,, - p)

fiti{a, — p} At a s .

%EZ'uHm_? +b

(c#0,ad -bc=0), {a &M rza, =f(a,,).n>1,

Wt sfEa, = f(a, )

<D:ﬁﬂnﬁ%Amﬁmrmﬁpq,mn “P B TP @7 PC
a,—¢q n—l_q a—qc
(200 35 F(x) AW R, M—t =T 4k Gxmk=—C )
8, =P @ -P a+d

TR f 00 = xf8 () = X0y
cx+d

, fiiBlex? +(d —a)x—b=0

IO_pd—b
cp?+(d—-a)p-b=0 ~a-pc
D B paAd, g AT IPE=0 P, i
cq°+(d-a)gq-b=0 q:qd—b
a—qc
aan_ler_p _pd-b
a,-p_ca,+d =~ (a-pc)a,,+b-pd a-pc "7 a-pc_a-pc a,,-
a,-q a,+b_ . (a-doa,,+b-gd a-gc , _4d-b a-qc a, -
ca, , +d " a-qc
k=220 2Py G TP

a—-qc a,—q a,,—¢



(2) BN pRITFEex? +(d —a)x—b = 0fmE—f#, Frbhcp’+(d—-a)p—b=0
) a—d
Frlb—pd =cp” —ap, pzTFﬁu

_aa,+b  (a-cp)a,,+b-pd _(a-cp)a,,+cp’—ap _(a-cp)@,,—Pp)

" ca, , +d ca,, +d ca,, +d ca,, +d
JITEA
1 1 .can,l+d_ 1 .c(anfl—p)+d+cp_ c +d+cp‘ 1 1 N 2C
an_p a—cp an—l_p a—cp an—l_p a—cp a—cp an—1_p an—l_p a+d
k=2 w1 1
a+d an_p an—l_p
a, +2

Bl1: w{a tiFta =la, = ”a—,n e N", R¥Fi{a, } s

n

. ﬁem&zf(x)zixz, W £ (X) = X RILRZI p=2,q=—1, FA

a,,—2 a,+2-2a 1a-2 ., ., a—-2 1.4, & -2 1
ST R L e L R L
a_ +1 a +2+a, 2 a+l = Yl 0 a0
2n+l _1n
e, =2 Y
2n_(_1)r|

2
Bl 2: ¥i{a R FAIXR: a =2aa,, = 2a—2—,a £0, RHl{a, HOEHA R

n

2

2 1’5@%&f(x):2a—%, TR £ (X) = X RIAFIE p=a, T

1 1 1 a, 1 1
a  —-a 2 7 azza(a —a):a—a+§

n+d 2a-—-a — " )

an an

gr L oyapy 1 1, R
Frih{ 2L == NE, AXEHN—MEELD

a, —a ,—a a a
pis—t ot cmentolion ol pna —asd

a, — ,—a a a a a n

ax® +bx+c

EH 3. WHH f(X)=T(a¢0,e¢0)ﬁvﬂiﬁ\ﬁﬁaﬂﬁiﬂ,ﬁ Xy, X, , HLH



U, = F(U,)EEAIIU, 54 S A b = 0, = 2a i, e ‘;‘l - (l‘j” _)’(‘1)2
A n~— N2

un+1

HEBH: o X, 2 F(X) AN A

2
B DK ey f — (e-a)x” —bx, (k=12)

X, =
ex, +

Upa =% _ au,” +bu, +c—x(eu, +f) _au’+(b-ex)u,+c—xf _au’+(b-ex)u,+(e-a)x —bx
X, au’+bu +c—x,(eu +f) au’+(b—ex)u +c—x,f au’+(b—ex)u +(e-a)x, —bx,

Upy —
FR,
s =% _ Uy =%, au,” +(b—ex)u, +(e—a)x" —bx, _ u,” —2xU, +x°
Upp =X, Uy —X, au,’ +(b-ex,)u, +(—-a)x,” —bx, u.’-2xu +x,
2
2+b—exlu +(e—a)x1 —bx, ; ,
PN " a " a _ u, _2Xlun + X
2 b-ex, (e—a)x,” —bx, u.’-2%u, +X,’
n n
a a
b—ex
L=-2x
a b+(2a—-e)x, =0
=
b—exz__ZX b+(2a—-e)x, =0
2
a
.. 1 Xy . FEY
“ #0 CTREAME—fRDb =0,e = 2a
X2

2
2 .
3. Casi{a,} e =2a, :a"2T+,ne N %51 {a, } s,

n

2

: 2; 2 £ (X) = X (X) 00720+ 42

fEAFeR o f(x) =

a’+2

J2
—J2  2a, _a’+2-2J2a, an—\/E)2

an,
an+1+\/§=ar12+2+\/§_ a’+2+2vJ2a, a ++2
2a,
man cEIER A
a, -2 _ (an,l _\/E)z _ (anfz _\/5)22 — = (ﬂ)zn_l = (ﬂ)zn_1
a2 a2 a_, +42 a, ++/2 2442



it a, = 2. CN2T £ QoD
(2++2)7 - (2-+2)?
FSREN A T e LT R R BT IR LR 5 T, 1 1T LA et T e A
a'+6a’+1
4a (a,’ +1)

#la: caia, >0, #1Ha,,, = SR {a, } s .

4 2
o £ (0 =5 O e £ (0 = x 78 £ (x) B
4x(x° +1)

X, =-1X, =1, %, = —?i,x4 =§i.ﬂx p=1q=-11Ea

a”4+6a”2+1+1
a,.+1 4a,(a°+1)  a‘+4a’+6a’+4a,+1 a +1)4
-1 a‘+6a’+1 . a'-4a’+6a’—4a +1 'a,-1

4a (a,’ +1) -

a

n+1

C(a+D)" +(a, D"
(3, +1)*" —(a, -1*"

SIS, 5 a,



